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IRRIGATION ENGINEERING
fuffa o fiaae) | . (=ATtream 3 : 70
Time allowed : Three Hours} [Maximum Marks : 70
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Note : Question No. 1 is compulsory, answer any FIVE questions from the remaining.

(i) % F7 & T 9T F} HHGR T G § FHiord |
Solve all parts of a question consecutively together.

(iii) Y% 397 %1 79 78 8 TRE] Fifrd |
Start each question on fresh page.

(iv) @) T & s 817 1 R # A srga & AT 8 1

Only English version is valid in case of difference in both the languages.

1. T4 = g9 d s e

Answer the following in brief :

i) T
Irrigation

(i) foee T
Silt factor

(iii) ST 95k
Hydrological cycle

(iv) TR T <l I ot
Principal crops of our state
(v) &0 % §HIR

Level crossing of canal (2x5)
(10f2) P.T.O.
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2. ()
(i1)
3. G)
(i)
4. ()
(i)
5. 0)
(i1)
6. ()
(11)
7. ()
(i1)
8. ()
(ii)

(2 of2)
Tfeent @ Hfad TA-FT H GEAIT |

Describe cavity tube-wells.

Ry o BT & 7 ) e 3 SevE ) Rl |

What is meandering ? Write objects of river trainings.

qrvd - et forer-3 % wie auens |
Explain side channel spillway with sketch.

ATE & i @ wies qussy |

Explain Symon’s rain gauge with sketch.

o 1 gt guRa < fafte S B AT |
Describe different methods of improving water duty.

Treea wiel 3 faeer 81 3 ol o @t EEETET |

Describe different causes of failure of gravity dams.

N g R fafer =0t whee wwsmsT |

" Explain border strip method of irrigation with sketch.

31 UEHY § Ag-9T 30T TEhY i HHHATST |

Explain tail escape and bed bar tail escape.

Fedcifire a1 I A0S § HIFHA B GAAET |
Explain super passage and syphon.
Fel -1 3 SO IS i ffae |

Write water-logging causes and its effects.

@ﬁa%ﬁwaﬁ%maﬁml

Explain the causes of failure of earthen dams.

\mkaﬁwmmﬁama“mm”ﬁml

Draw layout of diversion head works and explain “Fish Ladder”.

fRifra Ta0 % GG Y WA A TS RO ol TAATRT |

Explain factors affecting alignment of irrigation canal.
fyE3h qe” T “HUBD AT I HAAT | .
Explain “Guide bank” and “Cavity well”.
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